The total price can be found by multiplying the number of items
by the cost. Answer the questions below and show your work.

1. Meg bought 20 pairs of socks. Each pair costs $3. How much did she pay?

20x 3 =60

She paid $60.

2. Liz bought 5 school uniforms. Each uniform cost $100. How much did she pay?

oy 100 x5 =500
ﬂ‘l\ She paid $500.

3. Darris bought 4 scissors and 2 glue sticks. Each scissor cost $5 and each glue stick cost $1.

How much did he pay?
4x5=20

° , 2x1=2
B Vo
dd Ib Total =20+ 2 =22

He paid $22.

Emily bought 5 notebooks, 10 pencils, 5 markers, and 2 rulers. Each notebook and each ruler
cost $3. Each pencil cost $0.20 and each marker cost $2. How much did Emily pay?

Notebooks 5x3 =15

Pencils 10x0.20=2
Markers 5x2=10
Rulers 3x2=6

Total = 15+2+ 10+ 6 = 33
Emily paid $33
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